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Instructions for Candidates

1. Write your Roll No. on the top iinmediately on receipt of this question paper.

2. Attempt any five questions in all.

3. All questions carry equal marks (18 marks each)..

4. Answers may be written either in Engiish or Hindi; but the same medium should
be used throughout the paper.
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i. Discuss the growth ofpublic sector during the Nehruvian era. (18)

2. Discuss the causes and consequences of persistent informality in India,s
labour market. How does persistent informality affect workers and the overall
economy? (1S)

3. How did economic reforms between 1947 and 2016 affectsocial development in
India? Did economic growth lead to better living conditions for people? (18)

4. Analyse the socio-economic landscape oflndia in comparison to other South
Asian nations using various indicators. What are the key factors that explain the
similarities and differences among these nations? (18)
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How have caste, class, and gender affected economic opportunities in India,

and what role have affirmative action policies played in addressing these

inequalities? (18)

The Rangarajan Committee's approach to define the poverty line incorporates

nutritional norms and expenditure patterns. critically evaluate this methodology

and its implications for poverty estimation in India. (18)

Discuss how economic reforms have influenced the growth of India's

manufacturing sector. Why is there a need to reconfigure the country's

industrialisation model? (18)

What are the main trends in economic inequality in India, and why has inequatity

remained a major issue despite growth? (18)
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